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1. Determine logarithm of 1728 to the base 2,/3

o Watch Video Solution

2. Prove that log, log, log, 512 = 1.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tv0fNCqcH8YA
https://dl.doubtnut.com/l/_VsTFRpSS3kax
https://dl.doubtnut.com/l/_zhbfXvjVRj7X

3.Show that 71 10 21 2 + 31 1 = log2
.Show tha og? g\ 51 og%—og

o Watch Video Solution

4.If a® 4+ b*> — Tab = O,prove that (loga + logh) = 210g< ¢ ;_ b>

° Watch Video Solution

2 2
5.Show that 2log(a + b) = 2loga + log{l + ?b 4 b_2}
a

o Watch Video Solution

6. Prove that log, = + logaL2 z = log, \/x

o Watch Video Solution

2 3
7. Prove that 3 < log,, 5 < 7


https://dl.doubtnut.com/l/_zhbfXvjVRj7X
https://dl.doubtnut.com/l/_JMhB84bRevXf
https://dl.doubtnut.com/l/_6daIdLN5Nzy2
https://dl.doubtnut.com/l/_f8XIwBMDmuVT
https://dl.doubtnut.com/l/_MBCDMwKnJ0z5

° Watch Video Solution

8. Solve the equation logz  + logg  + logy; x = 5.5

o Watch Video Solution

zylog(zy)  yelog(yz)  zzlog(zz)
T +y N Y+ z  z4=x

then show that

o Watch Video Solution

1. Express the following in the form of z = log, ¥:

34 =81

o Watch Video Solution



https://dl.doubtnut.com/l/_MBCDMwKnJ0z5
https://dl.doubtnut.com/l/_df80CLEOeaJi
https://dl.doubtnut.com/l/_43wcf3R0XI0X
https://dl.doubtnut.com/l/_xfhL8qa7Ieyq

2. Express the following in the form of z = log, y:

2° — 32

o Watch Video Solution

3. Express the following in the form of z = log, y:

5 = 125

o Watch Video Solution

4. Express the following in the form of x = log, ¥:

VB =2

[ R[4

o Watch Video Solution

5. Express the following in the form of x = log, ¥:

1

-3 _ =
3 Y


https://dl.doubtnut.com/l/_JMw6YJiRoSSM
https://dl.doubtnut.com/l/_tYijEf88jEb9
https://dl.doubtnut.com/l/_zrguOfyBqNig
https://dl.doubtnut.com/l/_3QurCpfHRs45

° Watch Video Solution

6. Express the following in the form of z = log, y:

3\’ 243
2/ 32

o Watch Video Solution

7. Express the following in the form of z = log, y:

10~ % = .0001

° Watch Video Solution

8. Express the following in index form :

].Oglo 1000 - 3

o Watch Video Solution



https://dl.doubtnut.com/l/_3QurCpfHRs45
https://dl.doubtnut.com/l/_veQmz3ch6KO9
https://dl.doubtnut.com/l/_6eycTJ8Xcyp9
https://dl.doubtnut.com/l/_E0AuXt8nCBEq
https://dl.doubtnut.com/l/_YmjuldjSXXh9

9. Express the following in index form :

logs 125 = 3

o Watch Video Solution

10. Express the following in index form :

log, ;64 = 4

o Watch Video Solution

11. Express the following in index form :

10g25(.04) - - 1

o Watch Video Solution

12. Express the following in index form :

1
10g11(ﬁ> = =2



https://dl.doubtnut.com/l/_YmjuldjSXXh9
https://dl.doubtnut.com/l/_5XO6lL1jTd8u
https://dl.doubtnut.com/l/_liFDZttAb2QN
https://dl.doubtnut.com/l/_YdmV1FtyzsmR

| @ Vvatch Video Solution

13. Express the following in index form :

1 3
logs{5) =~ 3

o Watch Video Solution

14. Evaluate the following :

logg 216

o Watch Video Solution

15. Evaluate the following :

logy 5125

o Watch Video Solution



https://dl.doubtnut.com/l/_YdmV1FtyzsmR
https://dl.doubtnut.com/l/_o4ua6D7LEe8b
https://dl.doubtnut.com/l/_3HPOQphKcuI2
https://dl.doubtnut.com/l/_oVv4tY9rVfu9

16. Evaluate the following :

log, 5144

o Watch Video Solution

17. Evaluate the following :

log = .008

o Watch Video Solution

18. Evaluate the following :

logs 3125

o Watch Video Solution

19. Evaluate the following :

log; 1 324


https://dl.doubtnut.com/l/_JohJNhQrwXEH
https://dl.doubtnut.com/l/_jJR8zxe4tfVp
https://dl.doubtnut.com/l/_ivQay50ME4Lq
https://dl.doubtnut.com/l/_WYqTkmAm3p9k

o Watch Video Solution

20. Evaluate the following :

log gp; 100

o Watch Video Solution

21. Evaluate the following :

log,. 7 2401

o Watch Video Solution

22. Evaluate the following :

log,, /3 5832

o Watch Video Solution



https://dl.doubtnut.com/l/_WYqTkmAm3p9k
https://dl.doubtnut.com/l/_N11phjx6H6mx
https://dl.doubtnut.com/l/_eOreLsdxXqTv
https://dl.doubtnut.com/l/_p7h3UNsKNMhV

23. Evaluate the following :

log; /581

o Watch Video Solution

24. Prove that

logy logs 9 =1

o Watch Video Solution

25. Prove that

logslog, 8 =1

o Watch Video Solution

26. Prove that

log, log ;5256 = 2


https://dl.doubtnut.com/l/_sKErAMcGpOjO
https://dl.doubtnut.com/l/_bfLdneb0G4nl
https://dl.doubtnut.com/l/_wkNGJhttsgzx
https://dl.doubtnut.com/l/_7dHMJOOaB2ng

° Watch Video Solution

27. Prove that

log; log 51ogs 81 = 2

o Watch Video Solution

28. Prove that

log, log 5 logd =1

o Watch Video Solution

29. Prove that

].Og4 ].Og4 ].Og4 256 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_7dHMJOOaB2ng
https://dl.doubtnut.com/l/_rrW6nj1YEJJP
https://dl.doubtnut.com/l/_XanL7fu5hHZT
https://dl.doubtnut.com/l/_57zXBvOOk2lz

30. Prove that

log, log, log, 16 = 1

o Watch Video Solution

31. Evaluate

log, log ;3log, 64 =

o Watch Video Solution

32. Prove that

1
logg log, log 5256 = —
ogg log, log 5 256 3

o Watch Video Solution

33. Prove that

logs log, logs log, 512 = 0


https://dl.doubtnut.com/l/_87yjsY1G0CJA
https://dl.doubtnut.com/l/_6QPZsV50afeW
https://dl.doubtnut.com/l/_yrw9Ymday3C5
https://dl.doubtnut.com/l/_EKRxMjZNFr5W

° Watch Video Solution

34. Prove that

log, log, log; logs 19683 = 0

o Watch Video Solution

35. Determine x if

loglo(loglo 33) =1

o Watch Video Solution

36. Determine x if

log (logy ) =1

o Watch Video Solution



https://dl.doubtnut.com/l/_EKRxMjZNFr5W
https://dl.doubtnut.com/l/_g1EMbQzQGwU3
https://dl.doubtnut.com/l/_WOtdBOv26GF0
https://dl.doubtnut.com/l/_4BAhwl5m6MGB

37. Determine x if

logy(logyz) = — 1

o Watch Video Solution

38. Determine x if

log, (log /3 :1:) =2

o Watch Video Solution

39. Determine x if

1
logss (logz)x = 9

o Watch Video Solution

40. Determine x if

1
log25(10g3 513) = 9


https://dl.doubtnut.com/l/_Oytnneh9LEY9
https://dl.doubtnut.com/l/_wkmrfqCBkRLx
https://dl.doubtnut.com/l/_qVA94zVG7ikI
https://dl.doubtnut.com/l/_pw0ndEg4rTTU

° Watch Video Solution

41. Determine x if

logs {logs(logy z)} = 0

o Watch Video Solution

42. Determine x if

logz{log,(log, z)} = 1

o Watch Video Solution

43. Prove that

51 44 33
log, 16 + log, 5 log, 0 log, 2

o Watch Video Solution



https://dl.doubtnut.com/l/_pw0ndEg4rTTU
https://dl.doubtnut.com/l/_iD43TEHXVQ69
https://dl.doubtnut.com/l/_c4PQsD3Iglw6
https://dl.doubtnut.com/l/_1RJ6Hhzei694

44, Prove that

9 35 15
log, 1 + log, o log, i log, 3

o Watch Video Solution

45, Prove that
2 2 r2

D q
og, o + log, P + log, e

o Watch Video Solution

46. Prove that

log(azz) + log(yz) + log(zz) = logzy + logyz + log zx

o Watch Video Solution

47. Prove that

(loga)” — (10gb)” = log(ab)log( )


https://dl.doubtnut.com/l/_IEvVfVATqtnD
https://dl.doubtnut.com/l/_7udtNHoBtOfA
https://dl.doubtnut.com/l/_rVRbXvyLjdja
https://dl.doubtnut.com/l/_HSjv3I2rHJwe

° Watch Video Solution

48. Prove that

25 9 49
log, 3T + log, 35 + log, = 0

o Watch Video Solution

49, Prove that

75 5 32
log 2 — 21og 2 + log 2 — log 2
8 408 T8y =108

o Watch Video Solution

50. Show that 71 10 21 25 + 31 81 = log2
.Show tha og? g\ 51 og%—og

o Watch Video Solution



https://dl.doubtnut.com/l/_HSjv3I2rHJwe
https://dl.doubtnut.com/l/_XGFuH8MrfPt8
https://dl.doubtnut.com/l/_oQHd1cNzz8jz
https://dl.doubtnut.com/l/_OzFJxoAuUT6e

51. Prove that

Tlog —2 + 5log 2> + 3log o= — log2
%875 TPlo8gg Tolggy =08

o Watch Video Solution

52. Prove that

16 25 81
1610gﬁ + 1210gﬁ + 710g% = logb

o Watch Video Solution

53. Prove that

7log =2 + 6log > + 5log = + log—= — log3
%8 7g T Ol08g tolgy tlogoy = log

° Watch Video Solution

54. Prove that

lo 384+lo 513+10 5 —1lo 57—2
875 T8 gy T8y T8y =


https://dl.doubtnut.com/l/_dGABTVKibLVR
https://dl.doubtnut.com/l/_EWpKDwNZfEwm
https://dl.doubtnut.com/l/_8bts4cJybPD5
https://dl.doubtnut.com/l/_7Y66A663eJqH

° Watch Video Solution

55. Prove that

log{a-l— a’ + 1} = — log{\/a2 +1-— a}

o Watch Video Solution

56. Assuming the base as 10,prove that

1 81 21 3+31 2—|—l 3—O
g 3 g 5 ogg +log =

o Watch Video Solution

57. Assuming the base as 10,prove that

16 25 80
log2 + 1610g1—5 + 1210gﬂ + 710gﬁ =1

o Watch Video Solution



https://dl.doubtnut.com/l/_7Y66A663eJqH
https://dl.doubtnut.com/l/_uldmZNyZmmmS
https://dl.doubtnut.com/l/_Tf9i10mcgd27
https://dl.doubtnut.com/l/_Tgzo5MoWm1vJ

58. Assuming the base as 10,prove that

15 24 80
log 20 + 7log1—6 + 510g2—5 + 3logﬁ =1

o Watch Video Solution

59. Assuming the base as 10,prove that

9 24 160
2410gE — 8log2—5 + 1010g8—1 =2

o Watch Video Solution

60. Assuming the base as 10,prove that

log 768 + log o~ + 3log > + log — — 3
(0] og — og — og — —
& €32 &3 T %7

° Watch Video Solution

61. Assuming the base as 10,prove that

2310g 20 1 17l0g 2> 1 10log Sk = 1
og — og — og — =
& 15 821 30


https://dl.doubtnut.com/l/_xTx8LhIlIJOZ
https://dl.doubtnut.com/l/_hL5nsMz2DB5J
https://dl.doubtnut.com/l/_tt4dYDNrS4YK
https://dl.doubtnut.com/l/_q84rgyHo91ro

° Watch Video Solution

62. Assuming the base as 10,prove that

20log 8 + 45log 16 — 18log 32 = 30(5 — 5log5)

o Watch Video Solution

63. Assuming the base as 10,prove that

log12.5 = 2 — 3log2

o Watch Video Solution

64. Assuming the base as 10,prove that

log 800 = 2 4 3log2

o Watch Video Solution



https://dl.doubtnut.com/l/_q84rgyHo91ro
https://dl.doubtnut.com/l/_kNBw3ulo0CXA
https://dl.doubtnut.com/l/_0aXnwQS9qOql
https://dl.doubtnut.com/l/_fynTvGFiNyaF

65. Assuming the base as 10,prove that

1 1 1
log(l—l— 5) —|—10g<1 + §> —l—log(l + Z) + ... —|—10g(

14+ —
+19

1):1

o Watch Video Solution

66. Assuming the base as 10,prove that

log3y/3 4 log2y/2 — log5y5 3
log1.2 N

2

o Watch Video Solution

67.1If logp  loggq _ logr
b—c

= ;then prove that
c—a a—>b

p.qb.rczl

o Watch Video Solution

logx lo
68. If & 8y

a+b—2c - b+c— 2a -
V.

log z

p—T then prove that xyz=1"



https://dl.doubtnut.com/l/_al0MQbvCWNbv
https://dl.doubtnut.com/l/_aae6OOKiSKUg
https://dl.doubtnut.com/l/_7Tb0CTO3FY2u
https://dl.doubtnut.com/l/_vhn5ZHtcauMa

| ¥ Watch Video >Solution

zylog(zy) yzlog(yz) zx log(zx)
r+y = y+z  z4z

69. If then show

¥ =y’ =2°

that

o Watch Video Solution

logx lo log z
70. If 8v _ °8Y _ 98 prove that zyz = 1
y—z z— x—y

o Watch Video Solution

x 1
71.1f (3.7)" = (.37)Y = 1000,then prove that — o=

< |-
wW| =

o Watch Video Solution

72.1f a® + b* = 23ab,then prove that log(aT_‘_b) =

| =

(loga + logb)

o Watch Video Solution



https://dl.doubtnut.com/l/_vhn5ZHtcauMa
https://dl.doubtnut.com/l/_iN2GXVgM8Mnh
https://dl.doubtnut.com/l/_2uzUKvyv3oGS
https://dl.doubtnut.com/l/_ZZ6vDpleDyqn
https://dl.doubtnut.com/l/_6x8H4kCVfdyQ

73. If z? + y? = Tzythen prove that
1
log(z + y) = log3 + E(loga: + logy)
o Watch Video Solution
74. If z? + y? = 1lzythen prove that

T +y 1
log( 13 ): 5 (logz + logy)

o Watch Video Solution

— 1
75.1f a® + b* = 18abthen prove that log(a—b) =3

4

(loga + logb)

o Watch Video Solution



https://dl.doubtnut.com/l/_6x8H4kCVfdyQ
https://dl.doubtnut.com/l/_bzQll8IgJZTT
https://dl.doubtnut.com/l/_P6V9cNOxWXk9
https://dl.doubtnut.com/l/_TpnoWB5brrtd

76. If 4a* + 9b* = 37a%b? then prove that

log(2a,2 + 3b2) = loga + logb + log 7

o Watch Video Solution

77. If  2log(a +b) =loga + logh + log8then  prove  that

(a + b)* = 8ab

o Watch Video Solution

8|
I
\]

1 T
E(logx + logy),then prove that m +

78. |f10g(wT+y>

o Watch Video Solution

1
= E(loga + logb)then  prove  that

79.  If 1og<“ * 2b>

4
a’ + 4b*> = 12ab

| o WAF_L_ L vl e~


https://dl.doubtnut.com/l/_HG5M7UYbM3tV
https://dl.doubtnut.com/l/_Aoejisqvcw7s
https://dl.doubtnut.com/l/_ayi5g0es7p4c
https://dl.doubtnut.com/l/_UEs5bLWrI4mG

L T vyvaillll viucCo o0IuLiornl )

1
80. If 10g<mT+y) = E(loga: + log y),then prove that z = y

o Watch Video Solution

81. Given that log;,2 = .3010log,,3 = .4771log;,4 = .6021,
log,, 5 — .6990,log,, 10 = .7782,then prove that

log, 6 = 2.5854

o Watch Video Solution

82. Given that log;, 2 = .3010,log,, 3 = .4771,ind the value of log;, 12

o Watch Video Solution



https://dl.doubtnut.com/l/_UEs5bLWrI4mG
https://dl.doubtnut.com/l/_Fst0NmIjVUY1
https://dl.doubtnut.com/l/_PPoVgluUx8sX
https://dl.doubtnut.com/l/_68jHITpEglvX

8. Given that log;,2 = .3010log;, 3 = .4771,log;, 4 = .6021,
log;, 5 — .6990,log;, 10 = .7782,then prove that

logg 5 = .8982

o Watch Video Solution

84. Given that log;,2 = .3010log;, 3 = .4771,log;,4 = .6021,
log;, 5 — .6990,log;, 10 = .7782;then prove that

log, 9 = 1.5848

o Watch Video Solution

85. Given that log;;2 = .3010,log;, 3 = .4771then find the value of

log ((24) : )

o Watch Video Solution



https://dl.doubtnut.com/l/_z17GobujAyIG
https://dl.doubtnut.com/l/_QT2Q6e44cETx
https://dl.doubtnut.com/l/_GPEFHRJ2AF4V

86. Given that log;,2 = .3010log;, 3 = .4771,log;,4 = .6021,
log;, 5 — .6990,log;, 10 = .7782,then prove that

logs 30 = 1.898

o Watch Video Solution

87. Given that log;,2 = .3010log;, 3 = .4771,log;, 4 = .6021,
log,, 7 = .8450,log;, 10 = 1,then prove that

log; 70 = 3.8673

o Watch Video Solution

88. Given that log;,2 = .3010log;, 3 = .4771,log;, 4 = .6021,
log;, 7 = .8450,log;, 10 = 1,then prove that

log, 90 = 2.3124

o Watch Video Solution



https://dl.doubtnut.com/l/_zSeUOd6OCTEF
https://dl.doubtnut.com/l/_Z5eUBSmmHTLt
https://dl.doubtnut.com/l/_fZ6SACkgcSzQ
https://dl.doubtnut.com/l/_8RipYvDrOPRv

89. Given that log;,2 = .3010log;, 3 = .4771,log;, 4 = .6021,
log;, 5 — .6990,log;, 10 = .7782,then prove that

logg 45 = 2.1244

o Watch Video Solution

90. Given that log;,2 = .3010log;, 3 = .4771,log;, 4 = .6021,
log;, 5 — .6990,log;, 10 = .7782,then prove that

logg 24 = 1.4465

o Watch Video Solution

91. Given that log;,2 = .3010log;, 3 = .4771,log;, 4 = .6021,
log,, 7 = .8450,log;, 10 = 1,then prove that

logs 56 = 3.6642

o Watch Video Solution



https://dl.doubtnut.com/l/_8RipYvDrOPRv
https://dl.doubtnut.com/l/_NdBNH878pYsV
https://dl.doubtnut.com/l/_8N96UbbexWhs
https://dl.doubtnut.com/l/_HU5W1ilS8M8I

92. Given that log;;2 = .3010,log;, 3 = .4771then find the value of

log;, 3.6

o Watch Video Solution

93. Given that log;,2 = .3010log;, 3 = .4771,log;, 4 = .6021,
log,, 7 = .8450,log;, 10 = 1,then prove that

logs 56 = 3.6642

o Watch Video Solution

94. Given that log;,2 = .3010log;, 3 = .4771,log,, 4 = .6021,
log;o 5 — .6990,log;, 10 = .7782;then prove that

logs 72 = 2.6572

o Watch Video Solution



https://dl.doubtnut.com/l/_HU5W1ilS8M8I
https://dl.doubtnut.com/l/_fVJRj5AeHwG1
https://dl.doubtnut.com/l/_aRAQtpjFnv50

95. Given that log;,2 = .3010log;, 3 = .4771,log;, 4 = .6021,
log;, 5 — .6990,log;, 10 = .7782,then prove that

logg 96 = 2.0774

o Watch Video Solution

96. Given that log;,2 = .3010log;, 3 = .4771,log;, 4 = .6021,
log,, 7 = .8450,log;, 10 = 1,then prove that

log; 120 = 2.4606

o Watch Video Solution

97. Given that log;,2 = .3010log;, 3 = .4771,log;, 4 = .6021,
log;, 7 = .8450,log;, 10 = 1,then prove that

logg 140 = 2.3764

o Watch Video Solution



https://dl.doubtnut.com/l/_GcYtCxFpeS1Z
https://dl.doubtnut.com/l/_q7P5IejqeGPe
https://dl.doubtnut.com/l/_iAP3ZEuPu3vl
https://dl.doubtnut.com/l/_XwgJy0AFpIJm

98. Prove that

log,x +log:z =0

o Watch Video Solution

99, Prove that

logs 2 = logy 4 = log,, 8

o Watch Video Solution

100. Prove that

1
log:x = (E>logaw

o Watch Video Solution

101. Prove that

log, x = log, z? = log . "


https://dl.doubtnut.com/l/_XwgJy0AFpIJm
https://dl.doubtnut.com/l/_29PVoNxsaYLG
https://dl.doubtnut.com/l/_ZAGjULUfy1uq
https://dl.doubtnut.com/l/_v9BRqVG5jRq9

° Watch Video Solution

102. Prove that

1 N 1 N 1 5
log, 24 log,, 24 logg 24 B

o Watch Video Solution

103. Prove that

1 1 1

+ + =0
loga x logy x  log: x
b c a

° Watch Video Solution

104. Prove that
1 1 1 1

+ + =
log, P log, P  log.P log, P

where, abc = x

o Watch Video Solution



https://dl.doubtnut.com/l/_v9BRqVG5jRq9
https://dl.doubtnut.com/l/_DyfEOPEpE0Y2
https://dl.doubtnut.com/l/_0T1tuvpSbhAU
https://dl.doubtnut.com/l/_bAI4JlzxePfJ
https://dl.doubtnut.com/l/_du7C4z0wQ9u0

105. Prove that

log, m + log,; m? + log, 3 md+ ... + log,, m” = plog, m

o Watch Video Solution

106. Prove that

log, x. log, a. log.b. log, c =1

o Watch Video Solution

107. Prove that

log, x. log, y = log, z. log, y

o Watch Video Solution

108. Prove that

log, bz

=1+1log, b
log, =



https://dl.doubtnut.com/l/_du7C4z0wQ9u0
https://dl.doubtnut.com/l/_ueUL9F8JEDPg
https://dl.doubtnut.com/l/_eYxHwl5oUd4I
https://dl.doubtnut.com/l/_htoPezFCDZkv

| W Watch Video Solution

109. Prove that

log,(ab) + log,(ab) = log,(ab). log,(ab)

o Watch Video Solution

110. Prove that

1 1
Z <10g102< §

o Watch Video Solution

111. Prove that

3 log 2 < &
— O —_—
10 > BS 3

o Watch Video Solution



https://dl.doubtnut.com/l/_htoPezFCDZkv
https://dl.doubtnut.com/l/_CaK4QpEyrq4c
https://dl.doubtnut.com/l/_V9gE8ozxZOBi
https://dl.doubtnut.com/l/_k5TUpRcnZzt6

112. Prove that

1 1
g <10g103< 5

o Watch Video Solution

5
113. Prove that E<log10 7 < 7

o Watch Video Solution

114. Solve the following equation :

logz + log3 + 3log2 = 2log4

° Watch Video Solution

115. Solve the following equation :

logz  log64
log4  logl6

| o Watch Video Solution


https://dl.doubtnut.com/l/_pRRsRV86K7AS
https://dl.doubtnut.com/l/_QLA2Cthtk6SJ
https://dl.doubtnut.com/l/_mRUIMtSKwPkf
https://dl.doubtnut.com/l/_NCCMaDzmu833

116. Solve the following equation :

log, 2 + log, 4 + log, 8 + log, 16 = 10

o Watch Video Solution

117. Solve the following equation :

21

log, x + log, = + log,;y ¢ = 51

o Watch Video Solution

118. Solve the following equation :

log,  + log,;s ¢ = 15

o Watch Video Solution



https://dl.doubtnut.com/l/_NCCMaDzmu833
https://dl.doubtnut.com/l/_FnptgmqgEQ4y
https://dl.doubtnut.com/l/_ol1rReWN0Bin
https://dl.doubtnut.com/l/_Gk73rDhudOko

119. Solve the following equation :

logs x + log, (a:z) + logy; (:1:3) =3

o Watch Video Solution

120. Solve the following equation :

logg  + log, « + logy z = 11

o Watch Video Solution

121. Solve the following equation :

log, z + logy z = 6

° Watch Video Solution

122. Solve the following equation :

log, 3 + log, 9 + log, 729 = 9


https://dl.doubtnut.com/l/_cCFoc6MMbfSi
https://dl.doubtnut.com/l/_XGTROjxqqoS4
https://dl.doubtnut.com/l/_WFRGjeHnbD5K
https://dl.doubtnut.com/l/_2nv5UNz9qVhm

o Watch Video Solution



https://dl.doubtnut.com/l/_2nv5UNz9qVhm

